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Instructions :
1) This question paper contains 5 sections.
2) Allsections A, B, C, D, E are compulsory.
3) Answer according to instruction of the questions.
4) Figures at the right side indicate full marks to the questions.

S) Start new section on a new page.

SECTION - A
B Questions from 1 to 20 are objective type. Select and write

the appropriate option. Each question carries 1 mark: [20]

1)  Which of the following tag is pair tag?
(A) <IMG> (B) <U>
(C) <BR> (D) <HR>

2)  In which country Internet was invented?
(A) America (B) Japan
(C) India (D) China
3) How many bits are there in IP Address?
(A) 16 (B) 32
(C) 64 LoDy s
4)  Which topology layout is Simple?
(A) Ring Topology (B) Star Topology
(C) Mesh Topology (D) Bus Topology
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